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3. (12 points) Octavius, the giant octopus, escaped after all. He was being kept in a temporary tank
near the harbor—apparently even less secure than his tank at the zoo. He managed to get into
the bay, but the coast guard could keep track of him with a homing device that had been attached
to Octavius at the zoo.

(a) The coast guard station is 2 kilometers (2000 meters) down the beach from where Octavius entered
the bay. If the octopus was moving directly away from the shore at a constant rate of 25 meters
per minute, how fast was the distance between the coast guard and Octavius changing when the
octopus was 200 meters from the shore?

(b) At what rate is the angle formed by the beach and the line that gives distance from the coast
guard station to Octavius changing when Octavius is 200 meters from the shore?
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